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Geometry Midterm Review

Chapter 1:

1. Which diagram shows AK and CG intersect at point M in plane 7.

LXKy [eue/
C) | /“;;>ifvfl<§*// D)l/%/f

2. Given 4 is between Y and Z and YA = 14x, AZ = 10x, and YZ = 12x + 48, find AZ. Draw a diagram.

y I’-/)(A 10x /Yx + 0x = /2X+‘/<P AZ= /O(L/)
= AYx = Jax+Y @ [AZ =40 ]
12X+ 48 rx= 48 o
X=4

3. Name the intersection of AE and CG.

Po\'n‘%' C

4. Which angles form a linear pair?

W
<& ond 45
<5 and <3 *
M
5. If NQ bisects ZRNP, then ZONP = _? . N
<@NR
2
& 1 /3
R Q P

6.If RN bisects ZSRQ and m £2 =55° thenm L1 = _? .

&




Graph the figure with the given vertices and identify the figure.
Then find the perimeter and area of the figure.

o (3, 2)9 P (19 2)’ Q (13 '4)9 R (3’ '4)

Name of figure: Recﬁrgib
z . Pttt Perimeter of figure: ___1© wrutn
P= 24+ aw
é g :P; ;O\ e T |+
SEAEREEREREN = 16
: Area of figure: 12 unatd
SENESERNAREE A= Lw
; Qi i iR bttt = ('R
RN =
8. Graph the points D (2, 5) and G'( 8, -3) and draw b—é'
a) Find the distance between points D and G. 10w
b) Find the coordinates of the midpoint of DG.

EX)
¢) If D were the midpoint of HG , what would the coordinates of H be? (""\ P 13)
o={ (-2-5)'+ (g-2)*
oy+ 36
= (1o
. d =0
248 s+(-3)>
M Xt8 2 +3)_ g
a2 >

A¥3= 4 y»B*bo
A=-Y



9. RS is in the interior of ZTRU, mZTRS =4x+6, and mZSRU =8x - 6.

a) Draw and label ZTRU and RS.

o L,‘X-\-L: BX“Q
5 12 =4x
¥ =
”*%-6 3= X
28 u

b) Determine the value of x that will make RS an angle bisector. Explain your steps.
Yx+b= &-6
12=Y4x
3=X
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10. If m£ABD =56, find m£DBC. (Use the figure to the right) Al

© e 3

PR

34

11. What property justifies the statement. If m£A = 10 and m£B = 10, then m£A = m4B.
SulosHtuhon

12. Find the value of x. (Use the figure to the right)

’*‘-«m 3 \“"y
" -
55— X+ 30 E?t. bﬂ.«»‘:ﬁ:’n. Lx + 3{’) »30
a(o_: X ”"‘, .N\"-h

13. Write the contrapositive of the following statement. If x = 5, then x + 8 = 13.
IE A8 £13, then x#S.

14. Write the inverse of the statement: Ifa triangle has 3 equal sides, then it is equilateral.
TF a A Bos not have 3= sides | Ahen 17 5 nof eguf‘é;‘f’fsu‘

15. Find the value of x. Then find the measure of ZABD.

)S bX~S0= Qx + 10
b4x= 60
app= /%0° X=)S

X=




16. Look for a pattern and make a conjecture. Then predict the next two numbers in each sequence.

a)4,8,12,16,.. A0,a%

Aad 4
b) -2,4, -8,16,-32,... (HF -/3H

Mult by -2
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17. List all pairs same-side interior angles.

4 ¢q 8¢ 13 10 ¢ 13 369

3 €10 NALL, ek atg
18. List all pairs of alternate interior angles.

¢ t10 8¢t e 3¢S

& % 7¢13 e 2t
19. List all pairs of alternate exterior angles.

| €l St iy 126 1Y ]

2 612 b6 4418 46
20. List all pairs of corresponding angles. ,

| €9 240 c¢ /3 AL 1248 9403 $¢8 l;f

G442 3 €/ ' 7¢15 pas el 307 2
21.1f 1/ m, find the value of x. (Use the diagram at right) I /

3x410° Sx-10 [P+ L0
20 = 2X
m (5x - 10)°

jO= )( /

For 22 - 24 use the diagram to the below.

>
iy

22. Name all segments that are parallel to XY,

)

H i .
=T 14 BE
N

i VWi

23. Name all planes that intersect plane STX. | }mgmmg
UTY SRR, AYZ, sTu ,QVvz, R WV O
AN X

Y

24. Name all segements that are skew to VW.

UZ/ T}’) g-—— J—
Ts, uT,uq, RS



25. Find the value of x and y.

}i“ X

26. Find the value of x and y.

e\ 2y-%0 $+1202180
/ | RNTTIEN y=1o $x= 60
| 80 . X X= 13

27.Find x so that /|| m. Identify the postulate or theorem you used.

e
- P 1] = -
P CER L 27 = 3X
TR e o = X
¢ i

28. Find the value of the variable(s) in the figure. Explain your reasoning.

* . 3x+Ix+13=180 - )
N\\N‘[\wa}? 1%’:” 138 ‘/g 10
- - /ax:lég ;"{9-‘" L’y
TN _
e k= 13 37+
tay—1 | A
A Q)4 12
126 +12

29. Write a two-column proof for the following.

l||m

Given:
m||n

Prove: /1= /12

Statements Reasons
@ YR/ 5 ml/r\_ @ Gwen
@ <z © Al Ext js?
@ g el @ Corr 45 =
@ (’?Q? @ \f(/é.ﬂ"
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theorem or postulate can be used to prove AAEB=A CFB?

e VAN

30. If AABC is isosceles with vertex angle £ZB, and AE=FC  which )2/\

31. What are the lengths of the sides of this equilateral triangle?

/\ Ux=3x+5 Sicle /e?j#, = Q0
41}/ \3xr +5 _ I
.
X~ 15
32. Which triangles are congruent in the figure? Ko M
N\ AL
AKLT EANLM %\jx’(m\;
N

33. If ADJL = AEGS, then list all the corresponding sides and angles.

<pT<e DJ =e6
<TZ«e& JL=6S

34. Quadrilateral MNQP is made of two congruent triangles. NP bisects ZNand ZP. In the quadrilateral,

m«N =50 and mZP = 100. What is the measure of ZM?
N
ff

mn< M= 105° /g /«\
zs\,,ﬁ
/ \

M los /o
S0
g

35. Find the value of x, and find the value of m£1, if m£1= 4x + 10.

N ‘ IX-10 +9x-30 = | 8)
A m<| = 4 (20)+/0
+ :
hx \\ X —4o= 180 = 20410

/ * Il x =220 -
/z/ - ;;;Sx,—fm%gax_, 80)° 90

X= 20




36. Write a two-column proof. Mark your diagram. -
Given: A4BC is an isosceles triangle. . a

BD L AC S
Prove: ZA= £C o
Statements Reasons
D ARBL is isosc A O Given

BD L AC
@ asZce
® <Bbc=90 = <BDA
& erZeap,
® aBdbFsBM
@ <ATc<c
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37. In the diagram given, which angle has the greatest measure of 21, £3, 24.

<

38. Determine the relationship between m4RST, m4TRS

m<TRS > m<RST

39. Find the value of x and QA.
7%= 3x+16
Ux=1b
X=1

@) def of Jsosceles
@ def of L

@ Peflex)e
e #HL

@ CPcTc

40. Point A is the incenter of APQR. Find m4YGA. (Use diagram at right)

m<YGA = 37°

Pak

32°




41.In AMI1V, Z is the centroid, MZ =6, YI =18, and NZ = 12. M

a) Find MR 9 ///\\
F N\
AN
b) Find ZV /  z %
) o AR
L7 N
il \
o FindYz 6 ‘ A v
42. List the sides of ARUH in least to greatest order. 111°

RH, Hu, ur 7

43. Point Pin the incenter of AXYZ. If PY =40 and JY = 32, find LP. %
X 24 32%= q0° o o
LP=a4 |
X%+ 1024 = 1600 //"?9:_
(x> [57¢
X=2Y

44. Find the range for the third side of a triangle given two sides with measures of 7 km and 29 km.

A< X < 3b

45. Lines s, t, and u are perpendicular bisectors of the sides of AFGH and meet at] IfjG=2x+2,JH=2y-2,JF=8,
and HI =2z -3, find x, y, and z ;

Ax+= 8 o?aa/-'a?: 8 2z -3= /)
e hae y- 1o 2z =14
[2537 ;j 5] /?i?j

46. Is it possible to form a triangle with the given sides lengths of 4 ft, 8 ft, and 18 ft. If not explain why not.
>
NO +8 > 18
12 % (8



